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- Similar Figures — Polygons that have the same SHAPE put different
SIZE
Two polygons are similar if and only if:
v ALL corresponding angle measures are CONGRUENT

v ALL corresponding sides are PROPORTIONAL sing a
SCALE FACTOR

When two polygons are similar, we can write a
similarity statements using the symbol * ~

Are these figures similar? If so, write a sim;lﬂt}ixtycs\t)‘at PL%nst
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Are these figures similar? If so, write a similarity statement.

TABCD and TWXYZ
are rectangles
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Are these figures similar? If so, write a similarity statement.
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4. Given 7PQRS ~ 7 TUVW.

Write a proportion to find the length of PS.
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5. Given AABC ~ AADE. D
Solve for x and y. o 125
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6. Sam went to Walgreens to enlarge a picture. Currently, his picture is a
4" x 6”. He wants his new picture to be a 10{§\J5”. What scale factor
does he need to use on his original?
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7. Sally is standing next to a building and notices her shadow is 10 ft long.

If the building’s shadow is 100 ft long and she is 5.5 ft tall, how tall is the

building?
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8. Chris wants to reduce a triangular pattern for the quilt he is making.
His current pattern sides are 16, 16, and 20 cm. If the longest side of the

new pattern is to be 15 cm, how long should the other two sides be?
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9. A 36-inch yardstick casts a 21-foot shadow, how tall is a building
whose shadow is 168 feet?
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10. A model house has a scale of 1in: 2 ft. If the real house is 26 ft.
wide, then how wide is the model house?
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b - A. What is the scale factor from the small rectangle

H
NEW to the big rectangle?
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